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Section A: Multiple-choice Questions (8 x 2 marks = 16 marks
Read the questions carefuily. Choose the correct answer and write #s number In the
brackets provided.

1. The perimeter of the rectangle is ___qcm |
(1) 20 '
2 10
@ s
@ 4 ~om . ()

4 _cm- .

2. . Thetotal mass of a watermelon and a durian is 1800g.
The watermelon is twice as heavy as the durian.
What is the mass of the watermelon?

(1) 600g
{2 900g
@) 1200g

(4) 1800 ¢ " : ¢ )

78, 42580misthésameas

(1) 4km25m

@ 4km250m

{38) 42km5m

4) 42km50m. ' o { )



6.

7.

Alarge containe'r holds 4¢ of juice. John spills 800me of juice and
he pours the rest equally into 5 glasses. How much juice is there
in each glass? '

(1) 640 mt

(2} 800m¢

@) 960 mt |
(4) 3200 mt 1

Which of the following is the lightest?

(1) 2400g

(2) 2040g

(3) 20kg4g"
(4) 24kg

The mass of Sam increases by 3 kg every year. He is now 10 years old and
his mass is 33 kg. What was his mass when ho was 6 years old?

(1) 11kg
2) 12kg
(38) 18kg
4 21kg

The mass of a 9 year-old boy is not fikely to be .

(1) 26kg

(2) 250004 -

@ 3000g
(4) 30000 g




8.  Whatis the capacity of this beaker?

(1) 100 m¢
(2) 400 m¢
(3) 600 m¢
(4) 1000 m¢ ) ()

Section B: Open-Ended (9 x 2 marks = 18 marks)

Read the following questions carefully and write your answer in the boxes provided.

Show all your workmgs clearty
_ S
8. - The perimeter of trlangle ABC is 30 cm. What is the length of AB?

B Som © | | cm

10.” Aribbonis 1 m 60 cmlong. A strlng is3m 80 cm. longer than the ribbon. -
Find the total length of the two items. '
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11. The capaclty of a botile is 3t
Amir filled the bottie with 1035 m¢ of milk.
How much more mitk must he add to fili the bottle completely?

mé

12.  Look at the diagram below.
Jenny can travel to the Zoo using either route A or route B.
(a) Which is the longer route?
(b) How much longer?

j\nd

B R —

b) __ -m longer "}




18,

14.

2 apples

Find the mass of 1 apple and 1 cupcake.

A pole Is 2 m 78 cm long. 85 cm of it is above the ground. What is the length
of the pole that is below the ground? Write your answer in mefres and
centimetres. ‘

A plece of wire is used to form 3 similar rectangles measuring 9 cm by 8 cm
each. What is the original length of the wire? Write your answer in metres

and centimeires.




16. Study the diagram below.

F

350g

5509

Find the mass of one ®




Section C: Problem Sums (4 x 4 marks = 16 marks)
Read the problem sums carefully before solving-them.
Show all your workings clearly. Remember to include the word statements.

18. A rectanguiar field is 36 m long and 27 m wide.
Mr. Li jogs around the perimeter of the field thrice every morning.
How far doss he jog every morning? .
38'm

Field 27 m

19. Chammine welghs 35 kg.

: Betty weighs 6 kg more than Charmaine.
Azhar weighs 3 kg less than Betty. -
What is the fotal mass of the three chn!dren?




20.

21.

Ms Sebastian is a vet.

She can only give a dog 6 m¢ of medicine for every 5 kg of the dog s body
mass. - -

The dog has a body mass of 65 kg.

Find out the amount of medicine Ms Sebastian should give the dog.

-'Ryan cycled from Town AtoTown B. : S
After cycling for 3 km 900 m, he stopped for a rest before cycling for

another 1 lam 650 m and he met Tony who was 2 km 765 m from Town B.

Find the distance between Town A and Town B. Write your answer in km
and m, :

Town A Town B

Have you checked your work?
Did you remember o write the word statemenis?

Sefter: Mdm Ong LiLing
Vetlers: Mr Yuan Kee King & Mrs Wonig Ser Huay
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QL | Q2|03 ]|Q4]|Q5[Q6|Q7]|Q8

i 3 2 1 2 | 4 3 4

Section B
Q9) 13cm
Q10) 6m 80cm
Q11) 1965ml
(Q12) a) Route B
b) 180m longer
Q13) 800g
Q14) 1m 83cm
Q15) 1Im 2cm
Q16) 250g
Q17) Question Void

Section C
Q18)36x2 =172
27x2=54 -
72 +54 = 126
. 126x3 =378m (Ans) _

Q19)35+ 6 = 41
" 41-3 =38

41 + 38 + 35 = 114kg (Ans) -
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Q20)65+5=13 .
) 13 x-6 = 78ml (Ans)

Q21) 3900 + 1650 = 5550
- 5550 + 2765 =8315
8315m = 8km 315m (Ans)
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